

QUESTION 8

(a) Find $f'(x)$ given that $f(x) = \begin{cases} \frac{1}{\sqrt{x}}, & x \geq \frac{1}{4} \\ 3 - 4x, & x < \frac{1}{4} \end{cases}$.

(b) Hence find

(i) $f'\left(\frac{1}{4}\right)$

(ii) $f'(1)$

2 + 2 = 4 marks

SOLUTIONS

QUESTION 1

$$\begin{aligned} f'(x) &= \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} \\ &= \lim_{h \rightarrow 0} \frac{\sqrt{x+h} - \sqrt{x}}{h} \end{aligned}$$

Rationalising the numerator:

$$\begin{aligned} &= \lim_{h \rightarrow 0} \left(\frac{\sqrt{x+h} - \sqrt{x}}{h} \right) \times \left(\frac{\sqrt{x+h} + \sqrt{x}}{\sqrt{x+h} + \sqrt{x}} \right) \\ &= \lim_{h \rightarrow 0} \frac{x+h-x}{h(\sqrt{x+h} + \sqrt{x})} \\ &= \lim_{h \rightarrow 0} \frac{h}{h(\sqrt{x+h} + \sqrt{x})} \\ &= \lim_{h \rightarrow 0} \left(\frac{1}{\sqrt{x+h} + \sqrt{x}} \right) \end{aligned}$$

$$\therefore f'(x) = \frac{1}{\sqrt{x} + \sqrt{x}} = \frac{1}{2\sqrt{x}}, \quad x \neq 0$$

QUESTION 2

(a)

$$f(x) = \frac{x^2(x-2)}{3x+4} = \frac{x^3-2x^2}{3x+4}$$

$$\begin{aligned} f'(x) &= \frac{(3x+4)(3x^2-4x) - (x^3-2x^2)(3)}{(3x+4)^2} \\ &= \frac{9x^3+12x^2-12x^2-16x-3x^3+6x^2}{(3x+4)^2} \\ &= \frac{6x^3+6x^2-16x}{(3x+4)^2} \\ &= \frac{2x(3x^2+3x-8)}{(3x+4)^2} \end{aligned}$$

(b)

$$\lim_{\theta \rightarrow 0} \left(\frac{8 \sin^2 \theta \cos^2 \theta}{\theta^2} \right) = \lim_{\theta \rightarrow 0} 8 \left(\frac{\sin \theta}{\theta} \right)^2 \cos^2 \theta$$

$$\text{As } \lim_{\theta \rightarrow 0} \left(\frac{\sin \theta}{\theta} \right) = 1$$

$$= 8 \times 1^2 \times 1^2$$

$$= 8$$

QUESTION 3

(a)

$$\text{Let } y = f(3e^{\sin x})$$

$$\text{Let } u = 3e^{\sin x} \quad \text{Let } y = f(u)$$

$$\frac{du}{dx} = 3 \cos x e^{\sin x} \quad \frac{dy}{du} = f'(u)$$

$$\begin{aligned} \therefore \frac{dy}{dx} &= 3 \cos x e^{\sin x} \cdot f'(u) \\ &= 3 \cos x e^{\sin x} f'(3e^{\sin x}) \end{aligned}$$

(b)

$$\lim_{h \rightarrow 0} \frac{(1+h)^3 - 1}{h}$$

$$a^3 - b^3 = (a-b)(a^2 + ab + b^2)$$

$$= \lim_{h \rightarrow 0} \frac{(1+h-1)((1+h)^2 + (1+h)(1) + (1)^2)}{h}$$

$$= \lim_{h \rightarrow 0} \frac{h(1+2h+h^2+1+h+1)}{h}$$

$$= \lim_{h \rightarrow 0} (h^2 + 3h + 3)$$

$$= 3$$

QUESTION 4

(a)

$$\text{Let } y = f(\sin x \cdot \log_e x)$$

$$\text{Let } u = \sin x \cdot \log_e x$$

$$y = f(u)$$

$$\frac{du}{dx} = \frac{\sin x}{x} + \cos x \log_e x$$

$$\frac{dy}{du} = f'(u)$$

$$\therefore \frac{dy}{dx} = \left(\frac{\sin x}{x} + \cos x \log_e x \right) f'(u)$$

$$= \left(\frac{\sin x}{x} + \cos x \log_e x \right) f'(\sin x \cdot \log_e x)$$

(b)

$$\begin{aligned} \lim_{x \rightarrow 1} \left(\frac{x-1}{x^2+x-2} \right) &= \lim_{x \rightarrow 1} \left(\frac{\cancel{x-1}}{(x+2)(\cancel{x-1})} \right) \\ &= \lim_{x \rightarrow 1} \left(\frac{1}{x+2} \right) \\ &= \frac{1}{3} \end{aligned}$$

QUESTION 5

$$f(x) = \sin x e^{\sin x}$$

$$f'(x) = \sin x \frac{d}{dx}(e^{\sin x}) + e^{\sin x} \frac{d}{dx}(\sin x)$$

$$= \sin x \cos x e^{\sin x} + \cos x e^{\sin x}$$

$$= \cos x e^{\sin x} (\sin x + 1)$$

$$f'(\pi) = \cos \pi e^{\sin \pi} (\sin \pi + 1)$$

$$= (-1)(e^0)(0+1)$$

$$= -1 \times 1 \times 1$$

$$= -1$$

QUESTION 6

(a)

$$h'(x) = \frac{g'(x) \cdot f(x) - f'(x) \cdot g(x)}{[f(x)]^2}$$

$$h'(2) = \frac{g'(2) \cdot f(2) - f'(2) \cdot g(2)}{[f(2)]^2}$$

$$= \frac{(2)(5) - (3)(-1)}{(5)^2}$$

$$= \frac{13}{25}$$

(b) $y = x(\cos x - e^{-x})$

$$\frac{dy}{dx} = x \times \frac{d}{dx}(\cos x - e^{-x}) + (\cos x - e^{-x}) \times \frac{d}{dx}(x)$$

$$= x \times (-\sin x + e^{-x}) + (\cos x - e^{-x})$$

$$= \cos x - e^{-x} - x(\sin x - e^{-x})$$

QUESTION 7

(a) $g(f(x))$ exists if $r_f \subseteq d_g$

$$\mathbb{R} \setminus \{1\} \not\subseteq \mathbb{R} \setminus \{\frac{1}{2}\} \quad \therefore g(f(x)) \text{ does not exist}$$

$\therefore g'(f(x))$ does not exist

(b) $f(g(x))$ exists if $r_g \subseteq d_f$

$$\mathbb{R} \setminus \{0\} = \mathbb{R} \setminus \{0\}$$

$\therefore f(g(x))$ exists

$\therefore f'(g(x))$ exists

$$f(g(x)) = \frac{1}{\left(\frac{1}{2x-1}\right)} + 1 = 2x - 1 + 1 = 2x, \quad x \neq \frac{1}{2}$$

$$\therefore f'(g(x)) = 2$$

QUESTION 8

$$(a) f'(x) = \begin{cases} -\frac{1}{2}x^{-3/2}, & x > \frac{1}{4} \\ -4, & x < \frac{1}{4} \end{cases}$$

(b) $f'\left(\frac{1}{4}\right) = \text{undefined}$

$$f'(1) = -\frac{1}{2}(1)^{-3/2} = -\frac{1}{2}$$

QUESTION 9

$$y = 3x + 2\cos x$$

$$\frac{dy}{dx} = 3 - 2\sin x$$

If y increases as x increases, then gradient > 0

$$\text{show } \frac{dy}{dx} > 0$$

$$\text{minimum value} = -2 + 3 = 1$$

$$\text{maximum value} = 2 + 3 = 5 \quad \therefore 1 \leq \frac{dy}{dx} \leq 5$$

ie. gradient is always positive

$\therefore y$ increases as x increases

QUESTION 10

$$f(x) = ax^2 + bx^{-1} - 1$$

$$f(1) = -3: -3 = a + b - 1$$
$$\therefore a + b = -2 \quad \text{--- (1)}$$

$$f'(x) = 2ax - bx^{-2} = 2ax - \frac{b}{x^2}$$

$$f'(-2) = 2: 2 = 2a(-2) - \frac{b}{2^2}$$

$$2 = -4a - \frac{b}{4} \quad \text{--- (2)}$$

$$a + b = -2$$

$$4a - \frac{b}{4} = 2$$

$$\therefore a + b = -2 \quad +$$

$$\underline{-16a - b = 8}$$

$$-15a = 6$$

$$\therefore a = -\frac{6}{15} = -\frac{2}{5}$$

Substitute $a = -\frac{2}{5}$ into (1):

$$-\frac{2}{5} + b = -2$$

$$b = -2 + \frac{2}{5} = -\frac{8}{5}$$

$$\therefore \text{Equation is } y = -\frac{2x^2}{5} - \frac{8}{5x} - 1$$